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Candidates must write the Code on
the title page of the answer-book.

o FUNITT AP IA-HHRI TS 12 € |

o UYA-TF H e &1 i 3R ST 7T Hig TR ! BT STR-YREsh! & T&-I< W ford |

o  FUAT ST HY o foh T ULA-UF H 27 WA & |

o  HUIT U HT I TG IE HIA | Uget, UI BT HHI® Fa¥T (19 |

o IH AT H TS & [T 15 e 1 9O IS T | URH-U 1 faeRel gad | 10.15 S
fora SRR 1 10.15 a1 § 10.30 a1 T ST Fael TA-0 B T 37 39 3@t & IR o
SAC-RAHT W he IR Tal fordwt |

¢ Please check that this question paper contains 12 printed pages.

¢ Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

¢ Please write down the Serial Number of the question before attempting it.

* 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

NECIGRERIG]

POLITICAL SCIENCE
e e - 3 gue Afrpad 3w - 100
Time allowed : 3 hours Maximum Marks : 100
| e
(i) @ I9T AT E |
(i) F97 G 1 ~ 5 % Hedeh 797 U 3ieh &7 & | 37 Jo1 &7 Fedeh 37 20 I & 37y 781
&1 T |
(i) T &1 6 — 10 7% T3 797 g1 371 &7 & | 37 F41 &7 Fedeh 30 40 V151 G 3ifers
g1 &1 =T |
(iv) 797 & 11 — 16 7% A% J97 =T /%1 H1 & | 57 J91 %7 Fedsh 3% 100 Ir5T T
Y 781 817 T |
(v) T @& 17 § 21 7 Fede o Gier 371 & & | &7 Fo &1 edes 37 150 91T @
34 781 817 T |
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(vi) T G721 THEET 9T STEIRT F97 & | $9T 3 3771 STR-gRaehT 3 fofaw |
(vii) F99 GEI122 27 7% A% 597 & 3 H1 & | 57 591 7 i v 150 F151 G 37feres
&1 &lT TR |
General Instructions :

(i)  All questions are compulsory.

(ii) Questions number 1 — 5 are of one mark each. The answers to these questions
should not exceed 20 words each.

(iii) Questions number 6 — 10 are of two marks each. The answers to these questions
should not exceed 40 words each.

(iv) Questions number 11 — 16 are of four marks each. The answers to these questions
should not exceed 100 words each.

(v)  Questions number 17 — 21 are of five marks each. The answers to these questions
should not exceed 150 words each.

(vi) Question number 21 is a map-based question. Write its answers in your answer-
book.

(vii) Questions number 22 — 27 are of six marks each.-The answers to these questions
should not exceed 150 words each.

1. e | HEffed § 9 5w gur % foe ot F& 5 o1 2 1
(a) RIS S H Elet & |
(b) TT¥=H W SERT O A
(c) 3T ol QET |
(d) FTHR W HIR [T a1 & |
Gorbachev did not promise to reform which one of the following ?
(a) To loosen the administrative system.
(b) « To catch up with the west.
(¢) To reform the economy.

(d) To maintain a strict control over the government.

2. CINTEEH WA ¥ T A § 2 1
What does ‘ASEAN Way’ imply ?
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3. | Y &I T 3T ¥, SN GHTEAT o Ueh YR % &1 I GeAagal & Greeehivl & 3R
T 39 Y I AT BT | 1

“The loss of land means the loss of an economic resource base.” Interpret the
statement from the indigenous people’s point of view.

4.  Te-FRUETr H A B U HA P FESR, IR F 1971 ifadd 99 & qie Sifd q°r
TosTaT =l 20 9u SR T 2 1

Inspite of following a policy of Non-alignment, why did India sign 20 year Treaty of
peace and friendship with the Soviet Union in 1971 ?

5. re-fadr TiRIe i THUT SHEel H Ush 9 Wb ol Uhs]e he ST aRIehl T A & 9 1

Why is Anti-Arrack Movement called an altogether different kind of mobilization in
the rural areas ?

6. fadl@ fova g5 & wva, ¥ I§ & BTod URT FA Al fhel &1 HRUT A Ieerd

HIT | 2x1=2
Mention any two reasons for the emergence of a Cold War situation after the Second
World War.

7. 39 uRf=fqar & favemor sifs SRH YRAT ArEERt S i 1964 9 fodree & fog foeer
fopar ar | 2

Analyse the circumstances that-compelled the Communist Party of India to go for a
split in 1964.

8. TG o Het &Y 4xY2=2
(A) (B)
(81T SATHTEATAT St U i) T
(a) " AMHISTH-LTHP Yg=T & MR 9T T AT () TR
(b) TR TEE SR 5 % W T (i) wREs
(c) & e & Fela &y 59 o -HTT i | (ili) oI
(d) TEEmE T % 3MYR U STerTearst i (iv) dfHeTg
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Match the following in a meaningful way :

(A) (B)
(Nature of regional aspirations) (States)
(a) Socio-religious identity leading to statehood. (i) Mizoram
(b) Linguistic identity and tension with centre. (i1)  Jharkhand

(c) Regional imbalance leading to demand for statehood.  (iii) Punjab

(d)  Secessionist demands on account of tribal identity. (iv) Tamil Nadu

9. U ¥ 9Iifd RIOET i fG9 H Uk eH & ®9 H, TSie T — SAiarel S92
HIT | 2

Assess the Rajiv Gandhi — Longowal Accord as a step towards bringing normalcy to
Punjab.

10. 3 1 el S ¢ o Teie ot Fal HsiRT ot e 9 fHerdi-sjerd & 2 2

Why is it said that the story of Nagaland is similar to that of Mizoram ?

11. 9Rd 3R I & & 1962 % J5 & fohal IR FOMH IROTET 61 o BT | 4x1=4
Describe any four long term implications of the conflict of 1962 between India and
China.

12. 3METIT (IAEA) &I fogd T T 2 T 0T % &5 A 2 0k IT U 32941 T

oot HINT | 1+1+2=4
What does TAEA stand for ? When was it established ? Mention its two major
objectives.

13. U¥ IR YAER0T ool TET i SR DT ST GHBTCA [o9e ToHIT H A T € | 4x 1=4

Highlight any four environmental concerns which fall within the scope of
contemporary world politics.

14. 9Rd | AASM L 1 a7 b THI-HAT W Hy Ieeial BT 2 T Hifey | 4
How did the methods of voting in India go on changing from time to time till day ?
Explain.
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15. 9RA ¥ WHRI (HF301 aret o7ieh foehrd & He<d § Al o (ol STREET TR T b1 Ilieior
e ST | 4

Examine the circumstances responsible for reducing the salience of State-led

economic development in India.

16. A 1980 H SHAT THR P Y- T oiich T % folT 73 T F A6 ™ & T A
IAEHT &7 2 39 IR Sl T HIT | 4
What led to the downfall of the Janata Government and holding of fresh Lok Sabha

elections in January, 1980 ? Explain the circumstances.

17. TST T FEaR0T i LAHYdh gy 3R H=iaiad Je=i & 3T I 1+1+1+2=5

IRA B TF & T U Gl & HROT BIAR, SoNl-3(d, STRILE Ahars o

Getad el & SRF-IEH, T TR § Ugd a9 gl 99 & 99 379 ol | o

A S A&l § AR gU § | B9 B 30 9oy ¥ qoH 91 HET TE ¢ o YRS €9 % few

TART T 3T T T TIGER I & | qRAT G0 hl_STTeehier A Ai-ama= &F

T Bl € | i WRA A & ST <90 A ¥ Ueh & SAAT off R &9 & fely Hewaqol ¢ |

IHA A % R I FE T AL ARG H AGx Bl & | TRA ©F H 370 FoA-2707 Bl A

FET DT THISTIT H T & | THT SHISTIT HAhed SR TR & T off 9T Wl & | &

TURTSAT o QT &AM o 3T ot det SoTehl § QISR 31X Faer e of st & 1 &9

IR ! RATUE AT o T o Tewaqul § | ®F 7 YR o 37aiet SanT | of Sl ug

T TETIl |

() &9 FHIET & G W TR o TEFar Hd i 2

(i) YRT 3R ®F & 9 3T Gl 3, 99 & 1 grawel § o S0 3@ & [T,
AR Sl TETIAT [ Ul 2

(i) 9RT % 37T ST H &F A [ TR FerardT i 2

(iv) 9RA 3R EF [HT UhR Tk THY T AN UgaTd € 2 IHT 3R ¥ Th-Ueh I3 ST |

Read the passage given below carefully and answer the following questions :

India stands to benefit from its relationship with Russia on issues like Kashmir,
energy supplies, sharing information on international terrorism, access to Central
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Asia and balancing its relations with China. Russia stands to benefit from this

relationship because India is the second largest arms market for Russia. The Indian

military gets most of its hardware from Russia. Since India is an oil importing nation,

India is important to Russia and has repeatedly come to the assistance of India during

its oil crises. India is seeking to increase its energy imports from Russia and the

republics of Kazakhstan and Turkmenistan. Cooperation with these republics includes

partnership and investment in oilfields. Russia is important for India’s nuclear energy

plans and assisted India’s space industry also.

(i) How did Russia help India on Kashmir issue ?

(i) How do good relations with Russia help India to balance its relations with
China ?

(ii1)) In what way did Russia help the space industry of India ?

(iv) How did India and Russia get benefitted from each other ? Give one example
from each side.

18. TS T STaaRoT T LAMYd Uigd 3R FHfeiad ueat o 397 I 1+2+2=5

IRA T ATENRR0T T foRTY 8 GoTehl § & el & | 37T Ivaliehivr o el arauel

o’ Sl ST TSIk goil i aX @ 32l & a S1ea HIver BRA 519 Tl d off | fenfis

ek 3R T o T o SgRrea el o UaeT o foRiY foham & | $% aetaar ggerd

i T SR T UG FHT = U B o WA U | SEehT i el foriY ga |

(i) RA % el 3 U TSI el o AT [oAEy |

(i) T oo e Tl |, TEUEE Ul % YR STEA o o ORIy e
o 2

(iii) SRI! HHT FRT H F&T o1 Y I & HRUT JRA H foR e Hq UsT g 2

Read the passage given-below carefully and answer the following questions :

Resistance to globalization in India has come from different quarters. There have

been left wing protests to economic liberalization voiced through political parties as

well as through forums like the Indian Social Forum. Trade unions of industrial

workforce as well as those representing farmer interests have organized protests

against the entry of multinationals. The patenting of certain plants like Neem by

American and European firms has also generated considerable opposition.

(1)  Name any two left wing political parties of India.

(i)  Why did the unions of workers and the farmers organize protests against the
entry of multinationals ?

(ii1)) How did the patenting of the Neem tree by the Americans generate opposition
in India ?
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19. = ST T STeaR0T P a3 FEfetad ueet % 39R 16 2+2+1=5

59 T fordl =afed o1 TR & SHeRRT i e T TEd SR Mo o &,

ST e TH I DY {97 i W ot Be] 3R ST Sameor 1 3T Ugar ¢ | foshreier

M & U SR HET & X 310 GUBRT T R A & AT STt GETEAT Bl 377

BT & | 3% dofd df 9g-d¢ S¥I i 3TUET a¢ WH-HIS Al Wl lRT STOA faeer Hifq aF

FA & | TH T 1 IR 39 o1 W BT & o Sk IS | -9 e W@ 3R faerg g

W@ | T AT, foreraeiier 331 fdeh iR TLET i gfte & 91T dlehde] 39 W it g

T | 30 fRar &1 off S fader Mfq W Seo-de 3R Ued € | S aveags & A 9% &

3R A o Tahreier 3911 = dTrehde] I 1 TSl bl & | T@H 7T foreer =Aifq -<1aers

HITF 3T 3 T T TR 37T Fol et T A1 | 37 aofe ¥ g o fafe= <91 &1 = |

T |

()  RA I T Fifd hr wIiad A et Te] T4 SR JTATeRUT T Ueh-Ueh 3R
T |

(ii)  Toepraetier ST o1 &I 3710 Uerg | Wit o faem o8 ity i g § 2

(ili) 37 3 9 T & A TAray 579 e e gatm o |

Read the passage given below carefully and answer the following questions :

Just as both internal and external factors guide the behaviour of an individual or a
family, both domestic and international environment influence the foreign policy of a
nation. The developing countries-lack the required resources to effectively advocate
their concerns in the international system. So, they pursue more modest goals than the
advanced states. They focus more on peace and development in their own
neighbourhood. Moreover, their economic and security dependence on the more
powerful states ‘occasionally influences their foreign policy. In the period
immediately after the Second World War, many developing nations chose to support
the foreign policy preferences of the powerful countries, who were giving them aid or

credits. This resulted in the division of countries of the world into two clear camps.

(1) Give one example each of the domestic as well as international environment
that has influenced the foreign policy of India.
(i) Why do the developing countries focus more on peace and development in their

own neighbourhood ?

(ii1) Mention the two super blocs the world was divided into.
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20.

T ST T Al THERT 67 MY ST HieE AT FEeARad U9 SR AN 1 +2+2=5
(i) o UReT % WgHH aTel W g7 Sl g d FHiST |
(i) TR A Sl WEHR A Yo o UaT 37 foRe | & o foran 2
(ili) T A & TS % 3T TS 39 A U T UfAtshAT 39 2
Study the above newspaper illustration carefully and answer the following questions :
(1)  Identify the main issue that sparked off the agitation.
(i)  What did the National Front Government decide in favour of or against the
issue ?
(i11)) How did the coalition partners in the National Front react to this decision ?

——

A ;. FfeRad TeT Seet geaTier wieTTeRT & fofd Ied Tem 20 F A WE 12+2+1=5
20.1. &% TUsg ol ol qaTe uldtie 3 o W oo i & 2
20.2. HSET AN T T T 61 T4 off 2
20.3. I HIY St AR BT T DI o7 2

Note : This following questions are for the Visually impaired candidates only in lieu
of question No. 20.

20.1  What was the rationale behind giving adequate representation to Other
Backward Classes ?

20.2  Why was the Mandal Commission setup ?
20.3  Who was the Prime Minister of the National Front Government ?
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21.

L
40°FE o > 9 g > g g T30°

few T <feror wfern % YErAmtE # O g A @A), B), (©), (D) @@ (E) 3R awhE
TR | A & T BRI % YR U S Ted HiTg SR 310 ST-gReshl | 3k
T A, WA i TS STHHRT i 67 G T Farda SR H A &1 T8 AlNeTsw & 9 H
fefEu | 5x1=5

TN & T8 AHRI Bl A G&AT | Haidd 6w T HT AW

() =TT T F AN {7 oS 1 RHS & 41T ST AR F Tohel € |

(i) 3T I T 1960 H IR o W 1oy s7e7 ey v ot |

(iii) Torpraetict 32 § | Ush - Thetaesh SOt Jig ol 52 i &0 § & |
(iv) Tl WhIST, TTiehe o JeTeRk qeT HISTETa! SIieRtar o fdehi T & TR aTel 397 |
(v) E U ST 1968 T Teh Hodd o7 |
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In the given outline map of South Asia, five countries are marked as @, , @,

@ and @ Identify them on the basis of information given below and write their

correct names in your answer book with the respective serial number of the
information used and the alphabet concerned as per the following format :

Serial No. of the Alphabet | Name of the
information used | concerned Country

(1)  The citizens of this country can travel to Nepal and work there without any visa
or permit.

(1)) This country signed the Indus Water Treaty with India in 1960.

(1) One of the first developing countries to successfully control the rate of growth
of population.

(iv) The country that faced a triangular conflict among the monarchist forces, the
democrats and the Maoists.

(v) Island nation which was a Sultanate till 1968 ?
At FEAfAiEd we oot giteantad wWetEi & e T e 21 F™_EARE | 5x1=5
21.1. Sferor URTET % e X1 | 3T off I € 2
21.2. sficiohl % TgEETH QY™ & 1Y fefEay |
21.3. fore STaToT U I T HESH WU TS Y STEARICHE HUTEA STOTE 2
21.4 e % fo foehrg St & Heliesh TemidT s drell ST i 1 € 2
21.5 2006 H fohd 397 H ikl I JARTAT 85 ot 2

Note : The following questions are for the Visually Impaired candidates only in lieu
of Q. No. 21.

21.1  Which country of South Asia is still being ruled by a monarch ?
21.2  Name the majority community of Sri Lanka.

21.3  Which country of South Asia shifted from the Parliamentary form of
Government to Presidential form of Government ?

21.4  Which country is the biggest source of developmental aid to Bhutan ?

21.5 In which country did restoration of democracy take place in 2006 ?
10
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Te-FRUeT 3NRIeT & Ueh T & % A1, I g o IR TR i YfFehT i ST i | 6
areraT
Hiterad T o faeed 3 7 o9 aE 9 favar THiid ot Wfad fhar 2 e S |
Ix2=6

As a leader of Non-Aligned Movement (NAM), explain India’s role during the Cold
War.

OR

In what three ways did the collapse of the Soviet Union affect the world politics ?
Explain.

IR T o T H A ol Fd I A SRl Y [Teeror Hig | 3x2=6
AT
T T 31T & A & foTT ST A T ShRhl I 3THeT iU | 3x2=6
Analyse the biggest three constraints that operate on American hegemony.
OR

Assess the three major factors responsible for the rise of the Chinese economy.

T L o TG 3T ol Gl HITSTT 2T ST H [l 3l h HAl HI v BT | 2+4=6
YT
TR H SIRUNGE URUT & S G & 74 &l % © H e i IR qe=n
e G FETHIRAT Sl a0 ST, | 3+3=6
List the principal organs of the United Nations and describe the functions of any two
of them.
OR

Describe migration and health epidemics as the new sources of threat to the non-
traditional notion of security.

TR & G T & GaY §, TR & 3TdRT TR a2 gierm o & giteshion § 3

T2 HIT | TSTATST I THE T &A B & [T TR TIHN o GHT =41 § T A fa=amy

T TIRI0T HITTT | 3+3=6
Jreran

1960 % T |, SI7 o e W § 9YRI QRIS Hehe a7 3TheT Sidl [efd Uer e o fow
SRR URfefadl &1 foveiour ST | 397 % 69 T59 & Fa9 A AT gel Y
Y 9 T HIOT | 3+3=6
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Distinguish between the approach of Interim Government of India and the Muslim
League regarding the possible division of India. Examine the considerations that
guided the Indian Government to solve the problem of Princely States.

OR

Analyse the circumstances which led to a severe food shortage and famine-like
conditions in many parts of the country in 1960s. Which state of India suffered the
most and how ? Explain.

26. 1969 T HRET ULt & TR Tt & foTT SR fafeshe qom 2fexr et o s Jesrsit

T forgeryor Hif | 6
rerar

1970 % TMF H, IRA H ¥ WWHR qdT IRt & g o9 FH1 oI RO o= arelt

HZATST HT 3THT DT | 6

Analyse the factional rivalry between the Syndicate and Indira Gandhi which led to
the formal split in the Congress Party in 1969.

OR

Assess the developments which were the root cause of the confrontation between the
Union Government and the Judiciary in India in 1970s.

27. oM Sl ¥ WA el & foaehr@ &1 90 BT | *E EE-ddr Gl 7 olg
TSI § 37T Tet o1 ot = fora 2 3+3=6

e
ORA & 229 To9 & ®9 H [afomq & 9Rd ¥ faorg 9 detud uidqenas geshy &l auH
HIT | 6

Describe the growth of non-party movements in India. Why did many voluntary
organizations choose to-remain outside party politics ?

OR

Describe historical developments related to Sikkim’s merger with India as its 22"
State.
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